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Q1. (a) How stretch factor affects the topology control algorithm?.:Compare ‘and contrast
topology control algorithms with their metrics.

of the resulting graph?

(b) What is a good power level for a node to ensure “nice” propert1
e [2.5x2=5]

Explain the Relative Neighborhood G1aph (RNG).

Q2. (a) How to find topology control algorithm for min

ing the maximum power used by any
node?

(b) How many gateways exist between cluster§? Are-all’ active, or some standby? What is the
maximal diameter of a cluster? If more than~2 then cIusterheads are not necessarily a maximum
independent set? Explain. [2.5x2=5]

(b) In a reactive protocol ~forward a packet to destination? Explain Dynamic Source
AT ‘ [2.5x2=5]

Q4. How to expre‘ﬁéég gregation request? Write the metrics for data aggregation. Explain Sensor
Protocol for InfOrmatmn;:via Negotiation (SPIN} by using suitable diagram. [5]

Q5. How could an. intermediate node help in an end-to-end scheme? How to detect need for
retranSml 'ongf How to retransmit? How dependable delivery of large data blocks from
ensors to a single sink is done? [5]

Q6. ﬁ:gté}mining location or position is a vitally important function in WSN, but fraught with
many errors and shortcomings. Explain the various schemes with their convergence and
accuracy. [5]

Q7. Many different ideas exist for medium access control in MANET/WSN. Comparing their
performance and suitability is difficult. llustrate, which is the best MAC for which application?
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